&EHe—2

IREBEE-AYVTRAEER (PR FR22FE1A~T7A)

1 KEBEZAZ)JHREBERE (p2~9)
(1) Bl - 8kE 7—11~7—14, 7—17~22, 7—32
(2) EDH#TK 7—6., 7—9, 7—10, 7—23,. 7—24, 7—31
(3) WKEER;ZHK 7—3
(4) EKEERH T K 7—8., 7—25~7—29, 7—25-2

2 BEAKIERYMEETZ=2)IRAEHKR (p10)
3 KRREREYMEET=2YIUIHRAEHKR (p10~11)
4 BERDE=4YVIHAEHER (p12)

(1) BE

(2) &
5 E#MAE : BHXE1~4 (p13~p16)

6 BEJISI7%F (pl11~20)




(1) BB - Bk

7—11 7—12 7—13 7—14
e . KED KED KE KE®
NO. = H B | REEE it BRI Bk - BK - EEAE
(45 (PR %) (HRiE )
REEAAR () ITEEEE | H22.2.3 H22.5.17 H22.7.7 H22.5.17 H22.2.3 H22.5.17 H22.7.7 H22.2.3 H22.5.17 H22.7.7
R HEOEHE] Bh BN £ BB B B ED B B ED
FEERREZ 11:02 10:52 9:50 9:05 10:40 10:05 9:37 10:26 9:50 9:23
e °C y 22.0 252 17.0 %5 23.0 2.6 65 20.2 2.8
KE °C 14 12.2 22.2 10.0 2.1 13.9 4.9 10.6 7.2 7.4
BIRE E3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
B WEE | BBE | BWBE | ®E ®E e wE ®E E ®E
ag wa wE mE e mR | 2mE | ®E mE wE e
1|AFIHLA mg/Q 0.01 LU F — — — — — - — — — -
o7s e/t | FBE = — = - = = = = = =
3 |8n mg/Q 0.01 LLF] <0.001 < 0.001 - — < 0.001 < 0.001 - < 0.001 < 0.001 -
4 (Mt=R mg/Q 0.01 L F] <0.001 < 0.001 — — < 0.001 < 0.001 - < 0.001 0. 001 -
5 |#8KER mg/Q 0.0005 LI'F — — — — — - — — — -
6 |RUE{LE 7 =)L (PCB) mg/Q ESET — — — — — — — - - -
VAP A=I=B X B mg/Q 0.02 L] <0.001 < 0.001 < 0.001 - < 0.001 < 0.001 - — < 0.001 —
8 |miEbiE mg/Q 0.002 LLF — < 0.0001 — — - < 0.0001 — - < 0.0001 —
9(1,2->HnoxT4a > mg/Q 0.004 L[| <0.0001 < 0.0001 < 0.0001 — < 0.0001 < 0.0001 — - < 0.0001 -
10(1,1->yoo0xFLy mg/Q 0.1 LXT] <0.001 < 0.001 < 0.001 — < 0.001 < 0.001 — - < 0.001 -
1M|vR-1,2-HnoTFLy mg/Q 0.04 LLI'F] <0.001 < 0.001 < 0.001 - < 0.001 < 0.001 — — < 0.001 —
122(1,1,1-r)yyooxTi > mg/Q 1 LUTF — < 0.0005 — - — < 0.0005 — — < 0.0005 —
13[1,1,2-r)yOOxTR > mg/Q 0.006 LI — < 0.0001 — - — < 0.0001 — — < 0.0001 —
14y oo FLY mg/Q 0.03 LIF — < 0.001 — - — < 0.001 — — < 0.001 —
15|17 k> 0O0xxFLY mg/Q 0.01 LLF] <0.0005 < 0.0005 < 0.0005 - < 0.0005 < 0.0005 — — < 0.0005 —
16(1,3->o oo Jarky mg/Q 0.002 LI'F — < 0.0001 — - - < 0.0001 - — < 0.0001 —
171, 4-OF 49> mg/Q 0.02 LI~ <0.005 < 0.005 < 0.005 — < 0.005 < 0.005 - - 0.010 -
18[RoEY mg/Q 0.01 L’ <0.001 < 0.001 < 0.001 — < 0.001 < 0.001 - - < 0.001 -
V(LY mg/Q 0.01 LIF - < 0.001 — — — < 0.001 - - < 0.001 -
EHEE RS mg/ 4 . — 0.04 — — — 1.3 — - 2.1 -
N rnmrEE me/2 10 BT ——T7 5005 = - — <000 = —— <0005 —
ALESEES mg/Q 0.8 LIF — <0.15 — - — <0.15 - - <0.15 -
22|1F5% mg/4 1 L] <0.02 <0.02 <0.02 — <0.02 <0.02 <0.02 0.02 0.02 <0.02
W|ZFA XL 58 pg-TEQ/Q 1 UF — 0.043 — - - - - - — -
| ZTFIREY mg/Q — — - — - - - - - — -
25k LT mg/Q (0.6LLTF) — — — - - - - — — —
26| LY mg/Q (0. 4LL7F) — — — - - - - — — —
27|p H — 6.3 6.9 6.8 1.5 6.9 7.1 7.1 7.0 6.9 6.9
28|BOD mg/Q — — 4.3 — - - <0.5 — — 0.8 —
29|CcOoD mg/Q — — 6.2 — - - 1.9 — — 1.0 —
30|Ss s mg/Q — — 10 — - - 2 - - <1 -
KB ES 5 mg/Q — — 0.87 — - — 1.7 - - 2.2 -
R21YA mg/Q — — 0. 050 — — — < 0.005 - - 0.017 -
33 |1E1 A > mg/Q — 1 9.9 11 11 9.0 9.9 8.8 53 57 56
M |ERIEER #S/cm — 150 130 140 98 140 140 140 310 330 330




T—=17 7—18 | 7—19 7—20
\o. 5 B s | mmse AR TR 19;(%;;5* BRIITH BRPR
REFAR ()IEZEEER | H22.1.6 | H22.2.3 | H22.3.3 | H22.5.17 | H22.7.7 | H22.5.17 | H22.5.17 | H22.2.3 | H22.5.17 | H22.7.7
ESL HEOEE[ = B B B E) B Bh . . £Y
FEEZ 9:36 10:04 9:14 9:12 9:09 9:07 8:49 11:10 9:10 10:08
R °c 1.0 -5.2 3.1 23.0 22.17 19.8 20.0 -5.8 18.7 23.9
KR °c 1.4 5.2 1.3 15.2 14.5 11.0 11.0 0.5 11.0 15.0
BEE = = 30 = 30 =30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
&8 ®E BE ®E BE BE BE ®E mE wE wE
EE mE B2 mE ER EE EE mE mE mE mE
1[ARSDL mg/Q 0.01 T - - - - - - - - - -
17 mg/8 TR — - — - - - - = = =
3 |$m mg/Q 0.01 LLF] <0.001 < 0.001 < 0.001 < 0.001 - < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
4 |HtFR mg/Q 0.01 LATR| <0.001 0. 001 <0.001 0. 001 - 0. 001 0. 001 <0.001 <0.001 <0.001
5 |#KER mg/2 ] 0.0005 LUF - - - - - - - - - -
6 [RUEET =)L (PCB) | me/0 TR - - - - - - - - = =
1(oopArsay mg/Q 0.02 LI'F — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
8 |G bmR mg/Q 0.002 LL'F - — - < 0.0001 - - - <0.0001 [ <0.0001 | <0.0001
L L = I = % mg/Q 0.004 T — < 0. 0001 — < 0. 0001 — < 0.0001 | <0.0001 J <0.0001 | <0.0001 [ <0.0001
0jt1-vyoaxFLy mg/Q 0.1 LUF - <0.001 - <0.001 - <0.001 <0.001 <0.001 <0.001 <0.001
1M|>x-1,2-¥y0pnxFLy mg/Q 0.04 LI'F — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1211,1,1-k)y00x %2> mg/4Q 1 UTF - — - < 0.0005 - - - <0.0005 [ <0.0005 [ <0.0005
13j1,1,2-k)y0xT8 Y mg/Q 0.006 LIF — — — < 0.0001 — — — <0.0001 | <0.0001 | <0.0001
(k)20 FLY mg/Q 0.03 LUF - — - <0.001 - - - <0.001 <0.001 <0.001
157 39 00TFLY mg/Q 0.01 LI'F — < 0.0005 — < 0.0005 — < 0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
16]1,3->yon7OoRy mg/Q 0.002 LLF - — - < 0.0001 = — — <0.0001 | <0.0001 | <0.0001
171, 4&-oFF4> mg/Q 0.05 LI'F — 0. 009 — 0.012 — < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
18N HFY mg/Q 0.01 UUF - <0.001 - <0.001 = <0.001 <0.001 <0.001 <0.001 <0.001
9[> mg/Q 0.01 LIF - — - < 0.001 — — — — < 0.001 —
BREER mg/9 } - - - 2.2 - - - = 1.4 =
Y awmres ne /0 10 BT —— — — <o [ = = = — <o [ =
21|52% mg/Q 0.8 LUF - — - <0.15 - - - - <0.15 —
2|1F5% mg/Q 1 T — 0.03 — 0.06 0.03 <0.02 <0.02 <0.02 <0.02 <0.02
B[FAAF B pg-TEQ/2 T — - - 0.077 - = = = 0.042 —
U TFLRUEY mg/Q — — — - — — — — — < 0. 0001 —
BTy mg/Q (0.6LLF) - — - — - — - — <0.001 -
26(F>L v mg,/2 (0.4LLF) — — — — — — — — < 0.001 —
2]{pH — - 1.8 - 8.0 1.8 1.4 1.3 1.0 1.1 1.0
28|BOD mg/Q — — — - 0.6 — — — — <0.5 —
29|]coD mg/Q — - - - 2.6 - - - — 3.3 —
30[ss mg/Q — - - - 3 - - - — 4 —
RIEF £ mg/Q - - — - 2.4 - - - - 1.6 —
2(2YVA mg/Q - - — - 0. 022 - — - — 0.011 —
33 |iELA A > mg/Q - 93 56 16 19 16 5.6 6.4 5.0 4.8 4.5
U EREERE 1 S/cm — 480 330 400 410 410 65 1 85 83 83




7—21 7—22 7—32
NO. E g o i e FiREE (;J;zilgl) FKEKIR
=1=
HEFAH () IFZEBERR | H22.1. H22.2.3 H22.3.3 | H22.4.21 | H22.5.17 | H22.6.2 H22.7.7 H22.2.3 | H22.5.17 | H22.7.7 | H22.5.17
B3 IHEB MiEEHE E B Bh BEh BN B £Y BEh BEh Y BEh
FEEREZI 10:48 10:24 9:57 10:36 9:40 9:00 10:27 9:29 8:45 9:20 8:56
SUR °C -0.4 -9.2 2.0 10.2 18.5 20.1 22.6 -6.0 19.8 26.8 17.9
KB °C 1.0 0.2 1.0 10.9 12.3 10.8 17.4 0.8 10.3 19.3 11.2
BRE E = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
=Li:! BE EE 35 i) 3 EE 3 S EERE [EE) 3
25 \mR ER EBR ER EER ER ER |mE ERE |mE ER
1|[hRSHL mg/4 0.01 UTF - - - - - - - - - - -
227 mg/Q T - — — — — — — — - — -
3 [¢a mg/4Q 0.01 UTFT — < 0.001 — — < 0.001 — < 0.001 <0.001 < 0.001 — < 0.001
4 |BtE mg/Q 0.01 UTF — <0.001 — — <0.001 — <0.001 <0.001 0. 001 — 0.002
5 [#8KER mg/4Q 0.0005 LLTF - - - - - - - - - - -
6 [RUEILEZ =)L (PCB) mg/Q T - — — — — — — — - — -
IR A=1=E X mg/4Q 0.02 YT — < 0.001 — — < 0.001 — < 0.001 <0.001 < 0.001 — < 0.001
8 |misbmE mg/Q 0.002 LIF — < 0.0001 — — < 0.0001 — <0.0001 | <0.0001 < 0.0001 — —
91,2-oy QTR mg/Q 0.004 LT — < 0.0001 — — < 0.0001 — <0.0001 | <0.0001 | <0.0001 — < 0.0001
10|11, 1->00TFL Y mg/Q 0.1 LL'F — < 0.001 — — < 0.001 — < 0.001 < 0.001 < 0.001 — < 0.001
20|12 2-1,2-CopIFL Y mg/Q 0.04 T — < 0.001 — — < 0.001 — < 0.001 <0.001 < 0.001 — < 0.001
1211,1,1-kYyH0o0x2 > mg/Q 1 UTF — < 0.0005 — — < 0. 0005 — <0.0005 ] <0.0005 | <0.0005 — —
13[1,1,2-r) Y 0OxTH > mg/Q 0.006 LLF — < 0.0001 — — < 0.0001 — <0.0001 | <0.0001 | <0.0001 — —
14| oo FL Y mg/Q 0.03 LUTF — < 0.001 — — <0.001 — <0.001 <0.001 <0.001 — —
5|7 3208 FLY mg/Q 0.01 LUF — < 0.0005 — — < 0.0005 — <0.0005 | <0.0005 | <0.0005 — < 0.0005
16]1,3->soo0JaRy mg/Q 0.002 LUIF — < 0.0001 — — < 0.0001 — <0.0001 | <0.0001 < 0.0001 — —
1711, 4-OA X5 > mg/Q 0.05 UTFT — 0.023 — — < 0.005 — 0. 005 0.022 <0.005 — <0.005
18|IRV¥ Y mg/Q 0.01 UTF — <0.001 — — <0.001 — <0.001 <0.001 <0.001 — —
19[L > mg/Q 0.01 LUF — — — — < 0.001 — — — < 0.001 — < 0.001
THEMESR mg/Q . — — — — 1.3 — — — 0.48 — —
MET TS ne/ 10 B f—— — = <008 | = = — <000 = =
21| 5vo%& mg/Q 0.8 LIF — — — — <0.15 — — — <0.15 — —
2|F5% mg/4 1 LUF| <0.02 <0.02 0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
WB|FAAXLUE pg-TEQ/Q 1 UF — — — — 0.042 — — — — — —
|TFILANEY mg/Q — - — — — < 0.0001 — — — < 0.0001 — —
25|k mg/Q (0. 6LLF) — — — — < 0.001 — — — < 0.001 — —
26(F> LY mg/Q (0. 4LLF) — — — — < 0.001 — — — < 0.001 — —
27|p H — 7.3 7.2 7.3 7.4 7.3 7.4 7.4 7.3 7.3 7.4 6.9
28|BOD mg/Q — — — — — <0.5 — — — 1.2 — —
29|COD mg/Q — — — — — 2.5 — — — 2.3 — —
30|S S mg/Q — — — — — 2 — — — 7 — —
RlESES mg/Q — — — — — 1.4 — — — 0. 65 — —
R|eYA mg/4Q — — — — — < 0.005 — — — 0. 036 — —
33 |iIB L1 4 > mg/Q — 41 78 50 21 21 25 28 7.8 6.9 7.2 8.1
M| BEXInERE £ S/cm — 230 380 270 150 160 190 200 100 78 100 100




(2) RBA#hTK

#TFAKDKE 7-6
INO. B H By |EBICRIE 5T — Uk
R No. 8 F
FEFAR (V3= [ H22.1.6 | H22.2.3 | H22.3.3 | H22.4.21 | H22.5. 17 | H22.6.2 | H22.7.7
Xz HEDE#E =Y [ [E EIL BN En 5y
IRERERZI 12:49 10:51 10:20 11:28 9:10 9:46 9:56
B °C 1.9 5.2 1.0 10.1 19.1 21.0 27.0
KB °C 1.0 10.8 10.7 10.8 1.0 1.5
ERE & = = 30 = 30 = 30 = 30 = 30 = 30
=% EE wmat EE EE BE EE BE
25 EER |R EER |E ER |E ER
T[AESHL mg/Q 0.01 LIF — — — — — — —
27y mg/ 9 TR — — — — — — —
3 & mg/Q 0.01 LIF — 0. 003 — — <0.001 — —
3 (mm) * mg/9 0.01 LUF — < 0.001 — — — — —
4 |#t& mg/Q 0.01 LIF — 0. 001 — — <0. 001 — —
4 litx (i) * mg/0 0.01 LT - <0.001 — - = = =
5 [#9K3R mg/2 ] 0.0005 LT - - - = — — —
6 [RUEIEE 7 ==/ (PCB) mg/Q TR — — — — — — —
ABZEEEEY mg/Q 0.02 LIF - - — — <0.001 — —
8 |miEitirEk mg/2 | 0.002 LT - - - = — — —
91.2-CHonxay mg/2 | 0.004 LT - - — — <0.0001 — —
0[1,1->sopzFL> mg/Q 0.1 LT - - — — <0.001 — —
1M[>2-1,2-CHooxFL> mg/4Q 0.04 LIF - — — — < 0.001 — —
[AIREEYPEEEE P mg/Q 1T UF — — — — — = —
[HNNAYPEEEL P mg/2 | 0.006 LT - - - — — — —
NI PEEEETY mg/Q 0.03 LIF — — — - - — —
5|7 F5500TFLY mg/2 0.01 LIF — — — — < 0. 0005 — —
6[l.s->r/00JORy mg/8_| 0002 LIF — — — — = = -
T 4->AF9> mg/2 0.05 LT - — — — <0.005 — —
B[EIEE-LE/ <— mg/0 | 0.002 LT — — — — <0. 0002 — —
9[~oEy mg/2 0.01 LIF — — — — <0. 001 — —
20[wLy mg/2 0.01 LIF — — — — — — —
THEMER mg/Q R — — — — — — —

! nmmreE ng/0 10 BT —— = = = = = =
22| 5o%k mg/Q 0.8 LIF — — — — — — —
2B(F>5% mg/Q 1TLUF| 022 0. 21 0.14 0.17 0.17 0.13 0.21
8[54 AFL U8 pg-TEQ/Q 1T LT - - - - - — -
BIITFURVEY mg/Q — — — — — — — —
26| FLTY mg/2 | (0.6LLF) — — — — — — —
HIE me/2 | (0.4LTF) — — — — — — —
28| p H — 6.4 6.5 6.4 6.4 6.5 6.3 6.5
29|BOD mg/2 — — = = — — — -
30[coD mg/Q — — — = — — — -
3lss mg/2 — — — = — — — -
AEEES mg/Q — — — = — - — -
B[EYA mg/2 — — — = — — — -
MBI A mg/Q — 80 36 55 79 13 32 47
35| BRzEE 4 S/cm 660 520 400 620 450 470 530

X FKEFITREALITEEREL. KEOKRZWHEITIEET 5720, AT T 18— (FLE0.45um) THBLIEDARICSOVWTHITEENE,



7—9 7—10
HTRIKDIK = " PN
No. " B s | BEECHE i ifou
éiﬁiﬁg'_‘% o. 15HF -FI)ILI$4E
HEFEAH () IFEEER | H22.1.6 H22.2.3 H22.3.3 | H22.4.21 | H22.5.17 | H22.6.2 H22.7.7 H22.1.6 H22.2.3 H22.3.3 | H22.4.21 | H22.5.17 | H22.6.2 H22.7.7
X HEOMEE | 2Y En Eh 2Y Eh Eh £Y £Y Bh iBh zY B Bh zY
EEEFZI & 13:20 12:02 10:56 11:37 10:15 8:40 10:49 13:51 11:50 10:50 12:11 10:40 9:08 10:25
[im °C 1.2 -8.0 -0.5 8.1 18.4 17.0 23.2 0.3 -7.1 1.5 6.5 21.0 17.5 22.5
| KR °C 9.1 8.8 9.2 9.4 10. 1 9.2 9.5 8.5 9.0 9.0 9.1 9.2 9.0 10.7
BHRE E3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
X BE BE BE BE WIKE BE BE RE RE RE RE REE RE RE
B mE BE BE BE | MaEE | B BE mE mE mE mE mE mE mE
HETEEIA me/t | 001 Lr| - = = = = = = = = = = = = =
27> me /9 TR = = = = = = = = = = = = = =
3 [8n mg/Q 0.01 AR <0.001 < 0.001 < 0.001 — < 0.001 — — 0. 001 0.004 < 0.001 — < 0.001 — —
3" [y (@) ¢ mg/Q 0.01 LIF — — — — — — — <0.001 | <o.001 — — — — —
4 |AtE mg/Q 0.01 AR <0.001 < 0.001 < 0.001 — < 0.001 — — < 0.001 < 0.001 < 0.001 — < 0.001 — —
4 liltE Ak X mg/Q 0.01 LIF — — — — — — — — — — — — — —
5 [#7k3R mg/0_0.0005 LIF| — = = = = = = = = = = = = =
6 [ RUEILE Iz =)L (PCB) | me/? TR = = = - - - - - - - - - = =
7T|>oopray mg/Q 0.02 LL'F — < 0.001 — — < 0.001 — — — < 0.001 — — < 0.001 — —
8 [mig{kiRFE mg/Q 0.002 LLF — — — — < 0.0001 — — — — — — < 0.0001 — —
I|1.2-¥Hyooxiy mg/9 0.004 LI'F — < 0.0001 — — < 0.0001 — — — < 0.0001 — — < 0.0001 — —
10, 1-Yo0xFL> mg/Q 0.1 I'F — < 0.001 — — < 0.001 — — — < 0.001 — — < 0.001 — —
11 zx-1,2-¥HpopxTFL Y mg/9 0.04 UTF — < 0.001 — — < 0.001 — — — < 0.001 — — < 0.001 — —
1211, 1,1-kys0pxTE2 Y mg/Q 1 UTF - — — — < 0.0005 — — — — — — < 0.0005 — —
13|11,1,2-+) 0B ITR Y mg/9 0.006 LAF - — — — < 0.0001 — — — — — — < 0.0001 — —
14|r)0B0TFLY mg/Q 0.03 UTF - — — — < 0.001 — — — — — — < 0.001 — —
15|73 00T FLY mg/9 0.01 UF — < 0.0005 — — < 0.0005 — — — < 0.0005 — — < 0.0005 — —
16|1,3->Hsopn7aRy mg/Q 0.002 LLF - — — — < 0.0001 — — — — — — < 0.0001 — —
171, 4-OF %49 > mg/Q 0.05 UF — < 0.005 — — < 0.005 — — — < 0.005 — — < 0.005 — —
18|EILEZILE/ < — mg/Q 0.002 LLF — < 0.0002 — — < 0.0002 — — — < 0.0002 — — < 0.0002 — —
R EY mg/Q 0.01 UF — < 0.001 — — < 0.001 — — — < 0.001 — — < 0.001 — —
20|tL > mg/Q 0.01 UF — — — — < 0.001 — — — — — — < 0.001 — —
WEBEER mg/0 . — — = = 2.5 = = = = = = 2.0 = =
MR ne/0 10 BT —— — — = 000 = = = = = = 0037 | = =
22|5o% mg/Q 0.8 LI'F — — — — <0.15 — — — — — — <0.15 — —
RIESES mg/Q 1 LUF| €0.02 0.03 0.03 0.02 <0.02 0.03 0.03 0.07 0.06 0.08 0.05 0.05 0.05 0.03
U FAF XL H pe-TEQ/2 TR — = = = 0.043 = = = = = = %2 = =
BITFILRUEY mg/Q — — — — — < 0.0001 — — — — — — < 0.0001 — —
26T mg/Q (0. 6LAF) — — — — < 0.001 — — — — — — < 0.001 — —
21| ¥ LY mg/Q (0. 4LLF) — — — — < 0.001 — — — — — — < 0.001 — —
28| p H = 6.5 6.5 6.5 6.5 6.6 6.5 6.5 71 7.0 7.3 7.2 71 7.0 71
29|BOD mg/Q — — — — — — — — — — — — — — —
30{coD mg/Q — — — — — — — — — — — — — — —
3|ss me/4 = = = = = = = = = = = = = = =
RS me/4 = - - = = = = = = = = = = = =
B[EYA me/8 = = = = = = = = = = = = = = =
34| E i1 A~ me/Q = 86 76 59 57 56 59 80 54 64 38 39 32 28 39
B [EREEER #S/cm — 470 450 360 350 330 360 440 390 400 310 300 280 260 330

XUFKBFISEALITEZREL., KEOKRENREICEIET 510, A0TF0T40L%— (AE0.45um) THBRLEEDHRIZDOVTHNEER,
KT KGETICE Y BEESRKNTELEN o F2ORHE,




7—23 T—24 7—31
o 5 & w | Emn oA AR mE 55—y L
HER #hTRIK TR #TK
H#h T K
REEHH ()IEESR [ H22.1.6 | H22.2.3 | H22.3.3 | H22.4.21 | H22.5.17 | H22.6.2 | W22.7.7 | R22.5.17 | W22.2.3 | H22.5.17 | H22.7.7
KIE HEOEEHE Eh B B B B B ED) B B B £Y
REREFZI 11:54 10:03 9:28 10:59 10:34 9:21 10:58 9:47 11:33 9:40 11:06
SR °C 2.2 6.5 1.5 9.4 23.6 211 24.8 22.9 7.0 7.6 245
kg °C 7.5 8.6 7.8 8.0 8.7 10.0 10.5 9.5 9.0 9.0 9.3
BRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
@il RE RE RE RE RE RE RE RE RE RE RE
5 ER ] |R D EER ER E|ER ER ER ER ER
HETEIA mg/Q 0.01 LT — — — — — — — — — — —
2 [>7 > me/0 T — — — — — — — = = = =
KIED meg/Q 0.01 LLF| <0.001 | <0.001 | <0.001 = <0.001 = 0.008 | <0.001 | <0.001 | <0.001 =
3 () X mg/Q 0.01 UF - = - - — — 0. 001 — — — —
4 [~y oL mg/Q 0.05 LT - - - - - -
AEES me/0 0.01 LLF| <0.001 | <0.001 | <0.00i — <0.001 — <0.001 0.003_| <0.001 | <0.001 =
4 itz (pm) * mg/0 0.01 LIF - - - — — — — 0. 002 — — —
5 [#Kk3E mg/0_ | 0.0005 LIF — — — — — — — — — — —
6 [RUIEILE 7= =)L (PCB) me/0 TR = = = = = = = = = = =
B mg/Q 0.02 LAF| <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 = <0.001 =
8 [miEttRER mg/0_ | 0.002 LR | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = <0. 0001 =
9[1.2->sopnxs> meg/0 | 0.004 LT | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = <0.0001 =
o[,1->ymoTFLy me/0 0.1 LIF] <0.001 | <0.001 | <0.001 | <0.001 ]| <0.001 | <0.001 | <0.001 [ <0.001 = <0.001 =
N[oxt2vranzFLy me/0 0.04 LIF| <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 = <0.001 =
12[1,1,1-rysooxay me/0 T BIF ] <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 = < 0. 0005 =
1B3[1,1,-rys00TEy meg/e | 0.006 LT | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = <0.0001 =
NIYPEEEETS me/0 0.03 LIF| <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 = <0.001 =
5|7 kSHOOTFLY mg/Q 0.01 LIF| <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 = <0.0005 =
6],/ 00 ARy mg/0_ | 0.002 LR | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = < 0. 0001 =
) me/Q 0.05 LIF| <0.005 | <0.006 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 = <0.005 =
8[BIEE-ILE/ < — mg/0_ | 0.002 LR | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 - <0.0002 -
D mg/Q 0.01 LLF| <0.001 | <0.001 | <0001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 = <0.001 =
20[zL> mg/Q 0.01 UF — = = = <0.001 - — <0.001 - <0.001 -
MEEEES me/Q 10 8 — — — — 2.2 = = 0.28 = 0.98 -
EREBEER me/0 = = = = < 0.005 — — <0.005 - <0.005 =
2|5o% meg/Q 0.8 LIT — — — — <0.15 = = <0.15 = <0.15 =
21E5% mg/Q T LR <0.02 <0.02 [ <0.02 <0.02_ [ <0.02 <0.02 | <0.02 <0.02 [ <002 | <002 [<0.02
R % pg-TEQ/Q 1T — — — — — — — — — — —
B|TFILRUEY me/2 - — — — — - — — = - - -
26| FLTY mg/0 | (0.65LT) = = = = = = = = = = =
TP me/2 | (0.4ELTF) = = = = = = = — = = =
28| p H - 71 7.0 7.2 6.7 6.9 6.8 6.8 71 6.0 6.1 6.0
29|BOD me/0 - — — — — — = — = - - -
30[coD me/Q - = = = = = = = = = = =
3|ss me/0 - — — — — — = — = - - -
N|E=F me/0 - = = = = = = = = = = =
3[EYA me/0 - — — — — — — — = - - -
34| 1LiA 4> me/Q - 12 12 12 13 13 13 13 6.9 5.4 5.1 5.0
B EREEE 4S/cm - 150 150 150 150 160 150 160 95 110 100 98

X ERKEFICEALETEZREL. KEOKREMFEICIEET 510, AVTI0T7108— (FE0.45um) TAHBLIEEDHRIZDOVTHITEEE,




(4) EKERNHTK

7—8
tm'ﬁkmkﬁlgtg?;ﬁﬁi

7—3
. HEK KEE
0. = H B e |mgo-ue
AEEAH H22.5.17
PR Eh
EREREFZI 10:15
SR °C 21.9
KR °C 11.7
BERE E 12
£18 2188
BER BIER
1|AFEHL mg/4Q 0.1 T -
2|7y mg/Q 1 HUTF -
3 [gn mg/4Q 0.1 UUF 0. 005
4 \ftE mg/4Q 0.1 AF| <0.001
5 |#KER mg/4Q 0.005 LAF -
6 [RUEIEET =)L (PCB) mg/Q 0.003 LAF —
1looooAay mg/Q 0.2 UTF 0. 090
8 |migkiRE mg/4Q 0.02 LAF] <0.0001
9|1,2->ypRITRy mg/4Q 0.04 LI'F 0.029
0, 1->s0xFLY mg/Q 0.2 LA™ <0.001
1M|vR-1,2-ynnIFLYy mg/Q 0.4 T 0. 022
12|11,1,1-r) 0BT R Y mg/4Q 3 LR | <0.0005
13|11,1,2-ry BT R Y mg/4Q 0.06 LAF] <0.0001
14|c) 00T FL Y mg/4 0.3 UTF 0. 004
15|32 00TF LY mg/4 0.1 IF 0. 0008
16{1,3-> oo 7oRy mg/Q 0.02 LA ] <0.0001
1711, 4-OFFH> mg/4Q — 1.9
[18iBIEE=ILE/ X — mg/Q — 0. 047
PR +E mg/4Q 0.1 UUF 0.28
0L mg/4Q 0.1 LA | <0.001
THERMEER mg/Q R <0.02
W e/t |10 T o005
2|5o% mg/4Q 8 L] <0.15
2|IF5F mg/4Q 10 UUF 20
|54 FFT 58 pg-TEQ/Q 10 LT 0.25
B[TFLRUEY mg/Q - 1.6
26| bLT Y mg/Q — 6.8
211 F LY mg/Q — 1.1
28| p H — 7.0
29]BOD mg/ 9 — 1500
30]COD mg/Q — 480
31|S S mg/Q — 18
R (eEF mg/Q — 180
B|EYA mg/Q — 18
|34 |1E LA A > mg/Q — 1100
B EREER 4 S/cm — 7100

XEEMEICOVCT. RELABIZHT 52 KLEREOKEELEM,

NO. 18 B By ﬁ/ﬁ%-gﬁ%éia No. 123
AEFAH () IFZEEER | H22.5.17
x{& BB DiEsHE Eh
FREREFZI 9:45
SR °C 21.4
KiE °C 14.6
BRE E 26
48 E=lS
=5 RIER
1|AFEHL mg/Q 0.01 UTF —
2|1>7y mg/9 T —

3 [8n mg/Q 0.01 LLTF] <0.001
3| (i) X mg/Q 0.01 LUF —

4 |Ht%E mg/Q 0.01 UTF 0. 003

4 | (2 X mg/0 0.01 LF| 0.001
5 [#8KER mg/Q 0.0005 LLF -

6 [RUEILET =)L (PCB) mg/Q Tt —

IR A== X ] mg/Q 0.02 UTF 0. 001
8 |migbixE mg/Q 0.002 LUIF —
I|[1.2-oyoaxTiay mg/Q 0.004 LIF 0.0017
1011,1-200xTFL Y mg/Q 0.1 U] <0.001
M[PR-1,2-C nnxFL Y mg/Q 0.04 LITF] <0.001
1211,1,1-ry AT R Y mg/Q 1 UF -
13(1,1,2-kyypoxTa > mg/Q 0.006 LIF —

I A==t mg/Q 0.03 LT —
5|7 > 00TFLY mg/Q 0.01 LLF] <0.0005
16(1,3->HsopnJoRy mg/Q 0.002 LI'F —

171, 4-CHFH > mg/Q 0.05 LI'F 0.72

[ 18[IBIEE=ILE/ X — mg/Q 0.002 LIF 0. 0002
19|IRVE mg/Q 0.01 UTF 0. 046
20|1L2 mg/Q 0.01 UTF —

THEEEER R —

2 Emmren me/t [ 10 BT
22|15 2o% mg/Q 0.8 LIF —
B|F5F mg/Q 1 UF 22
U FA XX pg-TEQ/Q 1 UTF —
BITFIREY mg/Q — —
260k mg/Q (0. 6L4TF) —
21|F LY mg/ (0. 4LLF) —
28| p H — 6.9
29|BOD mg/Q — —
30|COD mg/Q — —
31|1S S mg/Q — —
R2|(EEF mg/4 — —
B|eYA mg/Q — —

34 [IBL LA > mg/8 - 710

35 | ESEEE 4 S/cm 4000

X BAKBIEAL-TEZREL. KED
AVTSUT A~ (AR 45um) THBLI-EDARIZDNT

St E Rk,

KRR % RO IBIE T B 7= 5.



(RIFARHF)

\o 5 5 B i%gf’;gg;ﬁ; 7-25 7—26|7-27]|7-28]|7-29 7—25-—2
REEHH OIEEER [ 223 | W22.5.17 | W2 7.7 | 22.5.17 | W22.5.17 | W22.5.17 | W22.5.17 | W22.2.3 | W22.5.17 | W22 7.7
PSS HE DEétiE BEh En EY (2 Bh fEh Bh (2 Bh £
FEEREZI 12:09 9:33 10:02 10:02 10:16 10:36 11:01 11:19 9:08 9:25
= °C 5.5 19,1 27.8 19.8 20.2 9.9 20.6 6.5 18.7 27.0
KB C 70.7 70.8 10.7 1.5 1.5 1.0 1.9 1.0 1.0 1.0
BRE z > 30 = 30 > 30 = 30 > 30 = 30 21 = 30 > 30 = 30
i=XiE] S 1S S B’E WERE 1S WIRER S S 1S
25 mR ] |R B/E |mR D AR ! |E !
HEEIA me/0 0.01 LR = = = = = = = = = =
2[>7> O = = = = = = = = = =
38 mg/0 0.01 LIF = = = = = = = = = =
3 [ Bl me/t | 001 BF| - - = - = - = - = -
S mg/0 0.01 LIF = = = = = = = = = =
T lit% R mg/t | 001 BIF| = - = = = = = = = -
5 [#K3R mg/8_ ] 0.0005 LIF = = = = = = = = = =
6 [RUIBIEE ==L (PCB) | me/s | AmH = = = = = = = = = =
ACZEEEEY me/0 0.02 LIF| 0.003 0.003 0.003 | <0.001 | <0.001 | <0.001 0.001 | <0.001 | <0.001 —
RS mg/8 | 0.002 LIF] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 —
I CEEEEP, mg/C | 0.004 LIF| 0.0002 | 0.0002 | 0.0003 | <0.0001 | <0.0001 | <0.0001 | 0.0009 | <0.0001 | <0.0001 —
0|l,1->/0nIFLY mg/0 0.1 LIF|] 0.010 0.014 0.016 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 —
M|[oA-1.2-S5/anTFlL> mg/0 0.04 LIF| <0 001 0. 001 0.001 | <0.001 | <0.001 0. 002 0.001 | <0.001 | <0.001 —
HAINEYPIEEE P, mg/0 T LIF|  0.040 0.055 0.068 | <0.0005 | <0.0005 | <0.0005 | <0.0005 ] <0.0005| <0.0005 —
Bl 1, 2-FysORTAY mg/8 | 0.006 LIF] <0.0001 | <0.0001 | <0.0001 | <0.0001 | 0.0003 ] <0.0001 | 0.0004 | <0.0001 | <0.0001 —
NIYEEEES TP, mg/0 0.03 LIF| 0.002 0.002 0. 002 0.001 | <0.001 0.001 | <0.001 | <0.001 | <0.001 —
B|F >/ 00TFLY me/0 0.01 LIR| 0.0051 | 0.0058 | 0.0061 | <0 0005 <0 0005 0 0049 | <0 0005 <0 0005 <0.0005 —
6|1.3->o 00Oy mg/8 | 0.002 LIF] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 —
T -SA %5 me/0 0.05 LIF| 0.047 0. 041 0,052 0. 005 0.010 0.007 0,30 0.23 023 0. 080
BIBIEE—ILE) < — mg/8 ]| 0.002 LIF] <0.0002 | 0.0004 | 0.0003 | <0.0002 ] <0.0002 | <0.0002 | 0.0014 | <0.0002 | <0.0002 —
[RoE me/0 0.01 LIF] <0.001 | <0.001 | <0.001 | <0001 | <0001 | <0 001 0.004 | <0.001 | <0.001 —
0[wL> mg/0 0.01 LT - - - - - — - — — —

HEBEER mg/Q R — — — — — — — — — —

! ammren ne/8 10 2T [—— = = = = = = = = =
2[5 -% mg/0 0.8 BIF = = = = = = = = = =
BES& mg/Q T LT = = = = = = = = = =
M[EFAF XL VR pe-TEQ/Q T LT = = = = = = = = = =
BlIFIL_R B mg/2 - <0.0001 | 0.0003 | 0.0001 | <0.0001 | 0.053 | <0.0001 | 0.011 | <0.0001 | 0.0002 —
26 FLTY mg/8 | (0.6ELF) | <0.001 | <0.001 | <0.001 | <0.001 0.006 | <0.001 0.001 | <0.001 | <0.001 —
AT me/¢ | (0.45F) | <0.001 | <0.001 | <0001 | <0. 001 0.049 | <o0.001 0.002 | <0.001 | <0.001 —
28] o H - 5.9 57 5.8 6.1 6.6 5.8 6.4 6.7 6.9 6.7
29[BOD mg/0 - — — - — — — — — — —
30[ss mg/0 - — — — — — — — — — —
3[coDp mg/0 - — — - — — — — — — —
R2|2EH mg/Q - — — - — — — — — — —
3BleYA mg/Q - - — - — - — - — - —
[ EEmAF ~ me/0 - 320 330 340 9.4 23 120 760 13 67 45
B |BREEE 4 S/cm - X1 X1 X1 X1 X1 X1 4l X1 X1 X1

¥ ERGERERUHTREIZONT, EBERERE.




......................... AEM R =8,-5, -1 g AIE R S G AlE R e e
........................... FAEHAE A-1a A-1b A-1lac fi(iﬁ%%)x
rmn e H221.14 | H22527 | H22.727 | H22.1.14 | H22527 | H22.727 | H22.1.14 | H22527 | H22.7.27 mesm
B me/m’ 0.00098 | 000067 | 000017 | 000079 | 000023 | 000014 | 0.00085 | 000018 | 0.00021 0.003LLF
RJHOOTIFLY  me/m <0.00069 | 0.00051 | 0.000055 | <0.00069 | <0.00002 | 0.000032 | <0.00069 | <0.00002 | 0.000045 02T
ZLSHO00TFLY me/m® 00034 | 0.0020 0.00011 | <0.00081 | 0.000035 | 0.000029 | <0.00081 | 0.000016 | 0.000032 02T
SHOOAY  me/m® 0.00087 | 0.0016 0.00035 | 000030 | 000026 | 000032 | 000038 | 000025 | 0.00032 0.15LF
HKEERK[EFLEME (RUEVE) ICRIRERE(EFH) FEH,
=3 - -~ > =
3 AEBEMAT=H) T AERESR
(1) ZFILEHR
i H22.1.13~1.19 H22.5.27~6.2 H22.7.22~7.28 -
SREHAR IRIEE
) 1 B F#){E(ppm) 1 B FHfE(ppm) 1 B F 9 1E(ppm)
B 188 0.004 0.004 0.001
B 2HE 0.001 0.001 0.001
1t 38H 0.000 0.000 0.001 1BOFHE
; 48 H 0.001 0.001 0.001 0.04~0.06ppm
- 5HE 0.001 0.001 0.001 FLFETNLUT
68 H 0.003 0.003 0.001
78H 0.003 0.003 0.001

10




(2)FERFIKYE
H22.1.13~1.19 H22.5.27~6.2 H22.7.22~7.28
REMM [ 1ewom | e | 1eFm | e | 18T0E | e RIREEE

= (mg/m?®) (mg/m?®) (mg/m?®) (mg/m?®) (mg/m?®) (mg/m?®)
5 188 0.018 0.057 0.006 0.025 0.019 0.05
i 288 0.010 0.017 0.005 0.029 0.021 0.053
; 3HE 0.009 0014 0.007 0.022 0.015 0.048 1RBD 1 HOFHiE
) 4HE 0.009 0.015 0.012 0.051 0.018 0.068 0-1mg/m" LR
! 588 0.010 0.024 0.019 0.055 0.016 0.055 1B R {8

688 0.003 0.020 0.014 0.038 0.026 0.082 0.2mg/m° AT

78H 0.003 0.061 0.017 0.053 0.021 0.065

)M/ MEIFIRYE (PM2.5) (H22EE NS DBIE)
H22.5.27~6.2 H22.7.22~7.28
SREHARE 1B¥EyiE 1B¥EYiE RIEEAEE

" (g/m®) (ng/m®
I 188 6.79 14.51
*q—‘é 2HH 248 12.25 I
% 3BH 6.56 12.95 35 1 g/mi LT
) 4HB 9.49 13.76
R ECE 14.41 14.32 (151918

6B H 13.08 1511 1541 g/m AF)

788 9.45 25.87
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4 BERBET=-SIJRAERR

(NEE
(dB)
s g B H22.1.21 | H22527 | H227.27 | R (6BF~228%)
Ll Hiﬂ_iflz 64 64 62
A TE
eﬁ Fﬁ:ﬂz 58 (H21FETRIERT) 10T
q
\’dB Ef_iflz 68 70 67

JE2) LAeqld HEEEZTLAI,

FNRERELSDERICHT SEORREELE | OHRRBEESIERICEEILIEREER,

(2) #REh

AR H22.1.21 H22.5.27 H22.7.27 BERRE™
(dB)
SREHh S B | B %M B | B %M
:

s ﬂf‘_:jz 30K | 30Ki# | 30K | 30K 32 30K

E

.‘g Eiii[z 30K | 30K (HAEETRERT) 65 60

H F it X
4B At 37 30K 37 30K 40 30K

FONERBIRBDOEFRE I OFIEREEER,
X2) BIEHERI80%L P D Lif{E (L10) DFEIE,
E3) R (8B~ 19K) . [l (6K~ 8K R U1 9B ~22F)

12
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